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1)   (15 ÷ 3) × (9 - 5) + 32 =   

 

2)  14 – (52) ÷ (45 – 8 × 5) =   

 

3)   (6 × 1)2 + (7 - 3)2 + 10 =   

 

4)   5 + (4 × 3) + (72 ÷ 7 - 2) =   

 

5)    (54 - 4) + 7 + 42 =   

 

6)   (12 × 5 + 7) × 2 + 8 =   

 

7)    (92 ÷ 3) ÷ 3 + 11 =   

 

8)    50 – (35 ÷ 7) × (3)2 =   

 

9)    (40 – 52) + (18 ÷ 3) =   

 

10)    6 + 62 - 12 × 3 =   

Order of Operations 

WORKSHEET#8 

Use the right order of operations and solve each expression. 
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1) 29                                           2) 9                                           3) 62  

4) 22                                           5) 73                                         6) 32  

7) 20                                           8) 5                                           9) 21  

10) 6                                  

ANSWERS 


